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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version Authentic
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State whether the following statements are TRUE or FALSE.

i A precise measurement guarantees accuracy of the measured quantity.

ii. Gravity controlled instruments have uniform scales.

iii. A piezo-electric pick-up is an example of an active transducer.

iv. Resistance of the order of 100Q2 falls in the category of low
resistance.

V. In a 3-® power measurement by 2-wattmeter method if one of the
wattmeter indicates negative reading, the load should be capacitive.

Vi. The fixed coil of an electrodynamometer wattmeter is used as
potential coil.

vii.  Primary and secondary windings of LVDT are wound on a tube of
copper.

Answer the following questions in short.

i. What is a transducer?

ii. What is the emf of the cell used for standardization of a
d.c.potentiometer?

iii. State four advantages of digital instruments over analog instruments.

iv. State the necessity of calibration of instruments.

V. For an instrumentation system state the functions of data
presentation element.

Vi. State the methods for extending the range for a.c. and d.c.
instruments.

Vii. State any three methods of data transmission.

Explain with circuit diagram, the use of Kelvin’s double bridge for measuring low
resistance.

Explain the working of Repulsion type MI instrument and show how it is suitable for
A.C./D.C. measurements.

OR
Explain how two 1-® wattmeters can be used for measurement of 3-® power and
power-factor.

Explain the factors to be considered while selecting a measuring instrument.
Explain the method of using Universal Impedance bridge for measurement of
impedance.

OR
Explain the three basic torques necessary for the operation of indicating instruments.

Draw and explain the block diagram of a typical instrumentation system.
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Draw block diagram of digital frequency meter and explain working of each block in
brief.

Explain any one method to calibrate single phase energy meter
OR
Explain the working of CRO with its basic block diagram.
State and explain in brief the factors to be considered for selection of a transducer.

Explain with figure construction and working of LVDT. Give its three applications.

Compare strip chart recorder and circular chart recorder
OR

List the transducers used for temperature measurement and explain any one in detail.

Draw block diagram of R.F.Telemetering and explain the function of each block.
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